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SELECT THIE CORRECT ANSWER

T 2. e~ T I S T

(2) s (1 )55

The flow of charges varies as time goes on i - : - bG i3

: § S as s shdolaall B LaS a3l e SAlE) .

according to the charge function: < 7 i
q(t) =46 -t +1

The instantancous current at (t=0.5s) is:

q(t) =4t -t +1
(t=0.55s) Mlvij.,ﬂl A ldda la

A 0.5 A B WAL o v i il 7
C 3.0 A D 4.0 A r=3Xo~>’-l-.3{’A~
(2 )l

LD 4 s 3
¢ (2580 mAh ) o> 3eY

A rechargeable battery is rated
(2580 mAh) as shown in the

image to the right. Which of Sasall A wa 1S
Il the below choices is correct ? * Lagaa slial GILAD Sa
A The number shown in the battery represents 4 bl A gall 280
its electric current. ‘,'L. 450 W A5 By
B The number shown iq the battery represents T: sl ,.a 3l
its electric potential difference. 4 (8 g

The rated number can be converted into

er\!jl&,uu&q

€| omc. —— U UL U N,
( 4 p |The number shown in the battery represents FATA M \
k its amount of charge. tiad laka By
(3 )5 TmnTES ey |
Which of the following quantities is ,k- Ju AN 3.-,.4.“ L
“a material’s opposition to the flow Sl sl g galt A3 glaa
of electric current™? £ Alhesd
= \
J( A | Resistance (R) ‘-‘JL“'“ =t J B | Resistivity (P) ac a5 =
C | Conductance () J’“’*‘“ D | Conductivity (o) syl :-
(4 )34l
An electric current is measured in all Ll (e Y 400 i g gl
ing units except one:
the following units excepl one et A S
A V.o B Cos? =
C e D 5.0 ;. v
¢ Ag i, - U gy {1} Slagfdiae - pea aidaa

2 (007438910 ) od - cha j bd iz (0507760373 ) 48 2aaa 81 [ 5k | (0505369567 ) Ut o sanags sl (0556148911 )= O i dar
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Three resistors are arranged W'l_w W_Wm S o S gl ...)h
in sgr;es as shown Th?j three| [ R, R, R, Jgaall JSN A LS
resistors are connected to 500 3.00 400 : u
a battery of electric potential v sl b &‘ o
difference 18 V. , ise luF « (18Volt )‘HJ
What is the electric potential ! e Jﬁ)';‘“ L
difference between the points mandn? | Riy. Ry Rax R; ‘nsom OERD O
BN . bYwz Ria Ty, :{sz: +sqs: 1z 1
"-7X\'S:\6-SV ’B/: T"‘,—;": —E‘Z\SA
A BN Bl 92V =
c |Crosv ¥ D| 24v =
( 6 )3l
What happens if you cut a magnet in half ? ¢ i M Uplobing Caalsd 13) Sy 130e
A | itbecomes demagnetized D S
B | you get a separate south pole and a separate north pole  Jusiia Jul iy Latia ipan o o Sl
C | you get monopoles :;t- Ll kil e Joass |
D | you get two magnets ~~ Beohiiis s e )
e C e ————— .
(7 )3,
) 1
In the circuit shown 2V S S 1)
in the figure —®— o 1ol JSAD
magnitude of V., will be AW |;=4ﬁ LAkl ahd o gl AL
Rea - Ry 4 RS G ke =8 PYizav
2 Bt yz-lan ti Veme=? Ry-8n
Y Lo——] I, = 8%
) E R(g I s _,
- N - - ~ - L o as
z12Xe2s 23\ J{,—f‘— I, 2= 5A
A| 0.6 Vol 5B 1.5Volt =
C| 3.0Volt o 6 Volt =2
Jealy - W hgd 2} Slay A dias o Qe pal

w
S

RS ooty =7 S A AP Y
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e T

Three identical hght bulbs are Al gl 3l A pabaal] e
,'l____ At gaall JS2U) B i gl
B

connected as shown in the figure
Initially the switch is closed.
Akl k) pdd s, ($lie gldal 5

When the switch is opened
(as shown in the figure), bulb C ~ C glaaad
Close off. g :
What happens to bulbs A and B ? Switch ~C TB A Cuakuaall f gl Sy i
L r—

: 1
ulb A gets brighter, and bulb B gets B g yhaws Js 5 A g e 3155
Both bulbs A and B get brighter Onabuadl) £ gl 3134

Both bulbs A and B get dimmer Opabuadl £ sl Jiy
B g sk 33 5 A £ s by

A

¢

B
D| Bulb A gets dimmer, and bulb B gets brighter.

(9 ) sl

A rigid conducting wire has a mass per unit #0.04 kg/m & ";' gd:w;if” a """,‘ vy

length 0.04 kg/m , and carries an electric ;,)\ '.'..::.fl, B Sy - J“}" i

current of 15A . The wire is placed in Ua A gl plile ealin Joe A Sl 12

a uniform magnetic field and is held lifted in é.nm ol sl Jaa F Lo sl g A -
A o~ Boa Ay B

2

equilibrium in the arr. P,
What is the minimum magnitude of this . Fe : F;’
magnetic field? =op024 N fy Tl Bena =
o B"’)/:(-"‘: '.[ = ‘fxl;\BéAASal'ui :‘? uv‘i-g
B=26mT =24wT B B=52mT —
."'. pe
C| B=52T D B=26T st
(10 ) 5_ad
In the figure shown 2l JS2D B
aal) Jaall 2l L

Determine the direction
of magnetic field at the

point ()
A upward eVl B into the page aaiad Jala 0 =
E downward Jiuy s > D B =0.0 o
Biz pe I gmyix 2 B,_"’:i‘n—l‘—-:\l‘rh;?;(h Gr T
2T ¥ T 2 (K \S B da N Xo 2= £
Byzt-33 x\5%1 yi g ned =88, - 333 x5l i34 2, d,u‘a;
Aoe Ay ko o 2
410

https /fonline.Miphtmi5 com/ihfhs/fntu/? 1647695322067 #p=10

S — 2 e T T T A

e L



3720722, 1:29 PM

pial 12 45dgill dnal jall 2 g3 g

2022-2021 = (12 A ) adkia poe AU cheall = (AU el ) Juadl] Clada il Aaa) yal)

( 11) 5k

B e I

For the circuit shown in the
figure , what will happened
to ammeter reading if we
add third resistance
between points fe

5 gkaall 5l e ey
.H‘)"uk;"‘lf.‘“J

SuaYl ol A e | jhy 1ile

NS A gl Adll 2 500 B

, fe ouakdldl G

>
/ /_“"\,J‘ /’\-fhr\)/

1§ WG s e

(_A);lwill remain constant () § A q‘“‘fiﬁ‘( B

It will become more than 0.8 A (& 335

C |it will be less than 0.8 A

e S

1t depends on the added resistance 4ad o saai
6:&952“’,)%'}..:3‘ :.’i S 4&.....‘{:. giiall

(12 )3 jaih

In the circuit shown in the
figure,

Calculate the magnitude of
the current ( f; ) flowing
through Resistor ( Ry ) and

the current ( 2 ) flowing

A Aadsal) g 30 A
sglaall g2

(f2)3 ()55 ke la
(R1)3(Ri) 0nds A
$ov= T i ) o
T ot

th h Resistor ( R

Sin =252,

Ml 42-5 $1-5 =
o=t

I "l. T - A l
A| 2=10A h=05A ir=05A Hh=10A 5;
cl h=25A ih=15A D| i=15A ih=19A
(13 Jofd Y 2

time is in seconds.

wireatt=3.5s

Charges are flowing through a wire of cross-
sectional area 1.5 cm? . The quantity of
charge varies with time according to the
function q = 2t% +3t where the amount of
charge is calculated in coulombs and the

What is the current density through the

IO PRTIE RN et I It
Dl Uy )y e Al aS aT1.5 cm?
q=2t"+3t
‘ {=35s e dD e tah sl
C=3% _qé+3 2 Y(35)+3 =12 A

'ji‘; - _\1_—— _(,‘%\SA| Q
‘T“l-},;* . = ot

A | 11x10° A/m?

1.1x10° Am? =

cli11xi0 A

11x10° Am~2 )
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(14)3 A0

2022-2021 = (1274 ) pikia e A

(2) gl
The net amount of charge (q) passing through A1) Adall) dgas] sl &f"f'un i) L
05 330n i ) 50 A La Alskiy 45 A

a point in a time interval is given by:
di
A Q=7 B[ q=—Jjidt =
—— 3 ".," -4
Al e e ook de ==
SJ C q—foldt D q-foT
(15 )3Adl

?J‘."n qi J"!'—‘” adls oladl ":h; il

How is the direction of current density.
in a conductor determined?

)

| =
T T e = g ass
ORI T T
o] T e e 3 b
C
D

T gall ilin2) 3 jad zaa slals

g851

In the opposite direction of the
velocity of positive charge

Perpendicular to the differential
area element

M‘bu‘ ).n..‘-"lﬁ,q".)rc aL;L

(16)3 _adl) i
Eleckic Device prinied on it 4.5V, 0.25). | -2 7 D ke
where, S is Siemens and V is Volt. _.1,; a3V ,'-,-, q‘_, S _.»
Calculate the electric current flow through the R '}1:-& t N A A Sal e e
device g W =
ﬁ— T= ﬂﬂi i _}‘_‘: — a0 A
A 0.04 A B 0.054 .
e e, v L —
€ 0.90 A 3 D 2204 ~

e A
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(17 )3 Al

¢ l.,Ak-i.;,a.as._JL‘Jl.:.l)LnJL_;_)

Which of the following statements is
completely accurate?

A | For ohmic resistors, current and applicd ol G el A i Y
voltage are not directly proportional iy Sha il
For non-ohmic resistors, current and applied o) A el e LA i
voltage are directly proportional — el e Sdagadl
C For ohmic resistors, current and applied oAl G A e —.*-f; A cadsy N
volta ireetly proportional _,"‘g:a;?ilc'ajﬂi-‘.’

For non-ohmic resistors, current and applied P 54 -4-5—’— ———
«.«,1\ Pr _A..)..ml

voltage are inversely propomonal

(18)3ad
1
A resistor 1s connected across Vems i3 P ieaas p e Jim 5 A5
a source of emf with potential- ’—ﬂ F—E | kS Vo 3> Gt Ui s
difference V¢ as shown in the 12.60V I § ldele KD imase
figure. What is the conventional i 4 ¥l L il slad Ly
current flowing through the i R g s R agiall e il
resistor R, and in which direction | ¢ by a Sihad
between a and b? 7410 Tz Yeaf (3.4-
e 27
7Y
A 0.6 A, totheright (el B 1.7 A, totheleft ;=i
= . e
C 0.6 A, totheleft jusl D 1.7 A, totheright (sl
(19) 3_aih
Determine the unknown 303 md gy gl 20
et =t

resistance R inthe
Wheatstone bridge shown
when the current through the
ammeter is zero ( The bridge

is balanced ).

Lis (R) agdall jliia el
(B WN-V)S
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(20 ) 3_ak
) |

The circuit shown in the
figure has a switch, S, and
resistors, and a capacitor,

JSE) (A Ao gall 5 lall
polia y § glda o g gad
Al o Galeaie i

a battery After the switch = < o
is closed, How long after C= :: R 2l okl |."’{l L-
the switch has been closed p M Oa
will be the capacitor fully 1 S § dalsly
charge ? ir
Vemf
;|
Clt==z l([)) t=w o
(21) aadl

An electron moves in a circular trajectory with
radius r; in a constant magnetic field What is the
final radius of the trajectory when the magnetic
field 1s doubled ?

Jiaa A 1y 0 jid el 5 13 e A g A8 £
i el gl o b st L , plle (uaglolie

? grasiiall Jaal | ke e laly

et e
Al = n Bl - mi e r=nt—
4 2_ 3184w
cl 24 p| 4n s
(22) 5 Adl

square coil of 20 turns has - = AL 20 O QS S e ile
(3.0 cm, 1.0 cm) dimensions, B (3.0 cm, 1.0 cm) 423
1s placefi‘ ifrj a uniform 6.9 T 3 pliZie aasbliie Jaa A Caay
magnetic icld as shown in the - 5 JLAN i e ge g LS 6.0 T 42
figure, if a current of 2.3 A - 23 A 45 S TNAD b je
flows in the loop, i \ e g A0 "”'
what is the torque on the loop ? R 3. Tl A el p el J

Y ! ==
A | 7.2%107 N.m, into the plane of the pagt—iakalvgia ) 7= NIARSY~?
B | 7.2x107 N.m, out of the plane of the page Lialg AN =20 X2-3Y2-23 X0+ X5
C |4.1x102 N.m, into the plane of the page  4adall Jala /) <0075 5’['5:
D |4.1x107% N.m, out of the plane of the page Liall g e A 20072 Mow >

-
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(23 A

— o

L;J;‘—‘;q:)" “[L_;.‘w' '\@SJQ&J
Ah P A0 QY aal ¢ AU AT 51 (5 gl o

Th,rposnm:ly charge@\dphgpartice entered
il ic fickd\ ofic of tfefAJowing

Shown in the figure the
magnitude of flowing
current in the circuit is
(i=2A).

Calculate electromotive

a ulT@m
S"a"z‘;&?‘)wv“ i 4 T I il 0153
-l e
. _E a —‘>' l ﬁ « > =B gL - * _ﬁ x x
v F .
- = F
F T, |
x x x x = » x "y ® \ - 2 z
\
A B C Nep 2
(24) 3 il
What happens when a conducting wire's R = Tf - Al ol dicLiae 26 Sioy 1
diameter is tripled? % welazp 21 0 S Jua ga
A Resistivity increases by a factor of 9=y l:’f:"/ﬂhn Gl i il aajad) Js 5
B | Resistance decreases by a factorof 3 | 2¥?#2 3 Jalaas JIL 24 e J5
C | Resistivity decreases by a factor of 3 L Jaleas ALl de o da jaddl a5
D | Resistance decreases by a factor of 9 : :; : %‘-ﬂa Sl A4 yia b
(25) 5_ad
The single-loop circuit : 0 S F TR SR E R
e single-loop circui B | A Aand pal) Al Al 50

Jeall LS 52 ¢ glaal Jo
(i=2A) a0 A

Ll ) Aadlad) 5 80 )

o (Vemez ) &80 4 450

force ( Vemr2 )?

e
Al 4V ) B| 24V =

b 2
c| 2v D| 4v —

ib\‘.—o

e &LI‘“RI;" \'cnfz + \I(-f":a

»;;' W Yo i K e e
t oM< - S
T, "8 -Vehisaun 3
dgaly - e hgh {8 Sl dlie - G s
Neap -y v
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